
Divide by 10⁻¹ (C)Find each quotient.
1.892 ÷ 10⁻¹ = 1 ÷ 10⁻¹ =
8.1457 ÷ 10⁻¹ = 1.4555 ÷ 10⁻¹ =
6.02 ÷ 10⁻¹ = 2.56 ÷ 10⁻¹ =
6.4158 ÷ 10⁻¹ = 0.7 ÷ 10⁻¹ =
9.9814 ÷ 10⁻¹ = 5.4 ÷ 10⁻¹ =
2.286 ÷ 10⁻¹ = 9.432 ÷ 10⁻¹ =
7.3 ÷ 10⁻¹ = 5.5 ÷ 10⁻¹ =
7.05 ÷ 10⁻¹ = 9.79 ÷ 10⁻¹ =
0.244 ÷ 10⁻¹ = 4.8572 ÷ 10⁻¹ =
3.4168 ÷ 10⁻¹ = 0.9129 ÷ 10⁻¹ =
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Divide by 10⁻¹ (C) AnswersFind each quotient.
1.892 ÷ 10⁻¹ = 18.92 1 ÷ 10⁻¹ = 10
8.1457 ÷ 10⁻¹ = 81.457 1.4555 ÷ 10⁻¹ = 14.555
6.02 ÷ 10⁻¹ = 60.2 2.56 ÷ 10⁻¹ = 25.6
6.4158 ÷ 10⁻¹ = 64.158 0.7 ÷ 10⁻¹ = 7
9.9814 ÷ 10⁻¹ = 99.814 5.4 ÷ 10⁻¹ = 54
2.286 ÷ 10⁻¹ = 22.86 9.432 ÷ 10⁻¹ = 94.32
7.3 ÷ 10⁻¹ = 73 5.5 ÷ 10⁻¹ = 55
7.05 ÷ 10⁻¹ = 70.5 9.79 ÷ 10⁻¹ = 97.9
0.244 ÷ 10⁻¹ = 2.44 4.8572 ÷ 10⁻¹ = 48.572
3.4168 ÷ 10⁻¹ = 34.168 0.9129 ÷ 10⁻¹ = 9.129
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